
 Detector 
0 5 10 15 20 25 30 35

 to
f-

le
 [n

s]
 

-30

-20

-10

0

10

20

30

tof-le relative to West Channel 1tof-le relative to West Channel 1

 tof-le [ns] 

-100 -80 -60 -40 -20 0 20 40 60 80 100
0

1000

2000

3000

4000

5000

West (Channels 1-19) vs. East (Channels 20-38)

West

East

West

East

West (Channels 1-19) vs. East (Channels 20-38)



0

20

40

60

80

100

120

140

160

180

200

220

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 1 : Channel 1 tof-le vs tof-totStep 1 : Channel 1 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

220

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 1 : Channel 2 tof-le vs tof-totStep 1 : Channel 2 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

220

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 1 : Channel 3 tof-le vs tof-totStep 1 : Channel 3 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 1 : Channel 4 tof-le vs tof-totStep 1 : Channel 4 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 5 tof-le vs tof-totStep 1 : Channel 5 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

220

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 6 tof-le vs tof-totStep 1 : Channel 6 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

220

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 7 tof-le vs tof-totStep 1 : Channel 7 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

220

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 8 tof-le vs tof-totStep 1 : Channel 8 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 9 tof-le vs tof-totStep 1 : Channel 9 tof-le vs tof-tot

0

50

100

150

200

250

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 10 tof-le vs tof-totStep 1 : Channel 10 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 12 tof-le vs tof-totStep 1 : Channel 12 tof-le vs tof-tot

0

50

100

150

200

250

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 13 tof-le vs tof-totStep 1 : Channel 13 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

220

240

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 14 tof-le vs tof-totStep 1 : Channel 14 tof-le vs tof-tot

0

50

100

150

200

250

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 15 tof-le vs tof-totStep 1 : Channel 15 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

220

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 16 tof-le vs tof-totStep 1 : Channel 16 tof-le vs tof-tot

0

50

100

150

200

250

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 1 : Channel 17 tof-le vs tof-totStep 1 : Channel 17 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 1 : Channel 18 tof-le vs tof-totStep 1 : Channel 18 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 1 : Channel 19 tof-le vs tof-totStep 1 : Channel 19 tof-le vs tof-tot



0

50

100

150

200

250

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 1 : Channel 20 tof-le vs tof-totStep 1 : Channel 20 tof-le vs tof-tot

0

50

100

150

200

250

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 1 : Channel 21 tof-le vs tof-totStep 1 : Channel 21 tof-le vs tof-tot

0

50

100

150

200

250

300

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 1 : Channel 22 tof-le vs tof-totStep 1 : Channel 22 tof-le vs tof-tot

0

50

100

150

200

250

300

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 1 : Channel 23 tof-le vs tof-totStep 1 : Channel 23 tof-le vs tof-tot

0

50

100

150

200

250

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 24 tof-le vs tof-totStep 1 : Channel 24 tof-le vs tof-tot

0

50

100

150

200

250

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 25 tof-le vs tof-totStep 1 : Channel 25 tof-le vs tof-tot

0

20

40

60

80

100

120

140

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 26 tof-le vs tof-totStep 1 : Channel 26 tof-le vs tof-tot

0

20

40

60

80

100

120

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 27 tof-le vs tof-totStep 1 : Channel 27 tof-le vs tof-tot

0

20

40

60

80

100

120

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 28 tof-le vs tof-totStep 1 : Channel 28 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

220

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 29 tof-le vs tof-totStep 1 : Channel 29 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

220

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 30 tof-le vs tof-totStep 1 : Channel 30 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 31 tof-le vs tof-totStep 1 : Channel 31 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

220

240

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 32 tof-le vs tof-totStep 1 : Channel 32 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

220

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 33 tof-le vs tof-totStep 1 : Channel 33 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

220

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 34 tof-le vs tof-totStep 1 : Channel 34 tof-le vs tof-tot

0

20

40

60

80

100

120

140

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 1 : Channel 35 tof-le vs tof-totStep 1 : Channel 35 tof-le vs tof-tot

0

20

40

60

80

100

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 1 : Channel 36 tof-le vs tof-totStep 1 : Channel 36 tof-le vs tof-tot

0

20

40

60

80

100

120

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 1 : Channel 37 tof-le vs tof-totStep 1 : Channel 37 tof-le vs tof-tot

0

50

100

150

200

250

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 1 : Channel 38 tof-le vs tof-totStep 1 : Channel 38 tof-le vs tof-tot



VPD - zTPC z
-200 -100 0 100 200

 [#
]

210

310

410

510

Step 1 : Outlier RejectionStep 1 : Outlier Rejection

 [cm]VPD - zTPC z
-200 -100 0 100 200

 [#
]

1

10

210

310

Step 1 : TPC vs. VPD z Vertex using <East> & <West>Step 1 : TPC vs. VPD z Vertex using <East> & <West>

0

100

200

300

400

500

TPC z
-100 -50 0 50 100

V
P

D
z

-100

-80

-60

-40

-20

0

20

40

60

80

100

Step 1 : TPC vs. VPD z VertexStep 1 : TPC vs. VPD z Vertex

0

5

10

15

20

25

 [cm]TPC z
-100 -50 0 50 100

 [c
m

]
V

P
D

z

-100

-80

-60

-40

-20

0

20

40

60

80

100

Step 1 : TPC vs. VPD z Vertex using <East> & <West>Step 1 : TPC vs. VPD z Vertex using <East> & <West>



 # of Detectors
0 2 4 6 8 10 12 14 16 18

 [#
] 

1

10

210

310

410

510

Step 1 : # of Accepted Detectors

West

East

West

East

Step 1 : # of Accepted Detectors

 # of Pairs
0 20 40 60 80 100 120 140

 [#
]

1

10

210

310

410

Step 1 : # of Valid PairsStep 1 : # of Valid Pairs



0

50

100

150

200

250

300

350

400

450

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 2 : Channel 1 tof-le vs tof-totStep 2 : Channel 1 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

450

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 2 : Channel 2 tof-le vs tof-totStep 2 : Channel 2 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 2 : Channel 3 tof-le vs tof-totStep 2 : Channel 3 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 2 : Channel 4 tof-le vs tof-totStep 2 : Channel 4 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 5 tof-le vs tof-totStep 2 : Channel 5 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

450

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 6 tof-le vs tof-totStep 2 : Channel 6 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

450

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 7 tof-le vs tof-totStep 2 : Channel 7 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

450

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 8 tof-le vs tof-totStep 2 : Channel 8 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 9 tof-le vs tof-totStep 2 : Channel 9 tof-le vs tof-tot

0

100

200

300

400

500

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 10 tof-le vs tof-totStep 2 : Channel 10 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

450

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 12 tof-le vs tof-totStep 2 : Channel 12 tof-le vs tof-tot

0

100

200

300

400

500

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 13 tof-le vs tof-totStep 2 : Channel 13 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

450

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 14 tof-le vs tof-totStep 2 : Channel 14 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

450

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 15 tof-le vs tof-totStep 2 : Channel 15 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 16 tof-le vs tof-totStep 2 : Channel 16 tof-le vs tof-tot

0

100

200

300

400

500

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 2 : Channel 17 tof-le vs tof-totStep 2 : Channel 17 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 2 : Channel 18 tof-le vs tof-totStep 2 : Channel 18 tof-le vs tof-tot

0

50

100

150

200

250

300

350

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 2 : Channel 19 tof-le vs tof-totStep 2 : Channel 19 tof-le vs tof-tot



0

100

200

300

400

500

600

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 2 : Channel 20 tof-le vs tof-totStep 2 : Channel 20 tof-le vs tof-tot

0

100

200

300

400

500

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 2 : Channel 21 tof-le vs tof-totStep 2 : Channel 21 tof-le vs tof-tot

0

100

200

300

400

500

600

700

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 2 : Channel 22 tof-le vs tof-totStep 2 : Channel 22 tof-le vs tof-tot

0

100

200

300

400

500

600

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 2 : Channel 23 tof-le vs tof-totStep 2 : Channel 23 tof-le vs tof-tot

0

100

200

300

400

500

600

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 24 tof-le vs tof-totStep 2 : Channel 24 tof-le vs tof-tot

0

100

200

300

400

500

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 25 tof-le vs tof-totStep 2 : Channel 25 tof-le vs tof-tot

0

50

100

150

200

250

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 26 tof-le vs tof-totStep 2 : Channel 26 tof-le vs tof-tot

0

50

100

150

200

250

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 27 tof-le vs tof-totStep 2 : Channel 27 tof-le vs tof-tot

0

50

100

150

200

250

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 28 tof-le vs tof-totStep 2 : Channel 28 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

450

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 29 tof-le vs tof-totStep 2 : Channel 29 tof-le vs tof-tot

0

100

200

300

400

500

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 30 tof-le vs tof-totStep 2 : Channel 30 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 31 tof-le vs tof-totStep 2 : Channel 31 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

450

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 32 tof-le vs tof-totStep 2 : Channel 32 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

450

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 33 tof-le vs tof-totStep 2 : Channel 33 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 34 tof-le vs tof-totStep 2 : Channel 34 tof-le vs tof-tot

0

50

100

150

200

250

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 2 : Channel 35 tof-le vs tof-totStep 2 : Channel 35 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

220

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 2 : Channel 36 tof-le vs tof-totStep 2 : Channel 36 tof-le vs tof-tot

0

50

100

150

200

250

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 2 : Channel 37 tof-le vs tof-totStep 2 : Channel 37 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

450

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 2 : Channel 38 tof-le vs tof-totStep 2 : Channel 38 tof-le vs tof-tot



VPD - zTPC z
-200 -100 0 100 200

 [#
]

210

310

410

510

Step 2 : Outlier RejectionStep 2 : Outlier Rejection

 [cm]VPD - zTPC z
-200 -100 0 100 200

 [#
]

1

10

210

310

410

Step 2 : TPC vs. VPD z Vertex using <East> & <West>Step 2 : TPC vs. VPD z Vertex using <East> & <West>

0

200

400

600

800

1000

1200

1400

1600

1800

TPC z
-100 -50 0 50 100

V
P

D
z

-100

-80

-60

-40

-20

0

20

40

60

80

100

Step 2 : TPC vs. VPD z VertexStep 2 : TPC vs. VPD z Vertex

0

5

10

15

20

25

30

35

40

45

50

 [cm]TPC z
-100 -50 0 50 100

 [c
m

]
V

P
D

z

-100

-80

-60

-40

-20

0

20

40

60

80

100

Step 2 : TPC vs. VPD z Vertex using <East> & <West>Step 2 : TPC vs. VPD z Vertex using <East> & <West>



 # of Detectors
0 2 4 6 8 10 12 14 16 18

 [#
] 

10

210

310

410

510

Step 2 : # of Accepted Detectors

West

East

West

East

Step 2 : # of Accepted Detectors

 # of Pairs
0 20 40 60 80 100 120 140

 [#
]

1

10

210

310

410

510

Step 2 : # of Valid PairsStep 2 : # of Valid Pairs



VPD - zTPC z
-200 -100 0 100 200

 [#
]

210

310

410

510

Step 3 : Outlier RejectionStep 3 : Outlier Rejection

 [cm]VPD - zTPC z
-200 -100 0 100 200

 [#
]

1

10

210

310

410

Step 3 : TPC vs. VPD z Vertex using <East> & <West>Step 3 : TPC vs. VPD z Vertex using <East> & <West>

0

200

400

600

800

1000

1200

1400

1600

1800

2000

TPC z
-100 -50 0 50 100

V
P

D
z

-100

-80

-60

-40

-20

0

20

40

60

80

100

Step 3 : TPC vs. VPD z VertexStep 3 : TPC vs. VPD z Vertex

0

10

20

30

40

50

 [cm]TPC z
-100 -50 0 50 100

 [c
m

]
V

P
D

z

-100

-80

-60

-40

-20

0

20

40

60

80

100

Step 3 : TPC vs. VPD z Vertex using <East> & <West>Step 3 : TPC vs. VPD z Vertex using <East> & <West>



 # of Detectors
0 2 4 6 8 10 12 14 16 18

 [#
] 

10

210

310

410

510

Step 3 : # of Accepted Detectors

West

East

West

East

Step 3 : # of Accepted Detectors

 # of Pairs
0 20 40 60 80 100 120 140

 [#
]

1

10

210

310

410

510

Step 3 : # of Valid PairsStep 3 : # of Valid Pairs



VPD - zTPC z
-200 -100 0 100 200

 [#
]

210

310

410

510

Step 4 : Outlier RejectionStep 4 : Outlier Rejection

 [cm]VPD - zTPC z
-200 -100 0 100 200

 [#
]

1

10

210

310

410

Step 4 : TPC vs. VPD z Vertex using <East> & <West>Step 4 : TPC vs. VPD z Vertex using <East> & <West>

0

200

400

600

800

1000

1200

1400

1600

1800

2000

TPC z
-100 -50 0 50 100

V
P

D
z

-100

-80

-60

-40

-20

0

20

40

60

80

100

Step 4 : TPC vs. VPD z VertexStep 4 : TPC vs. VPD z Vertex

0

10

20

30

40

50

60

 [cm]TPC z
-100 -50 0 50 100

 [c
m

]
V

P
D

z

-100

-80

-60

-40

-20

0

20

40

60

80

100

Step 4 : TPC vs. VPD z Vertex using <East> & <West>Step 4 : TPC vs. VPD z Vertex using <East> & <West>



 # of Detectors
0 2 4 6 8 10 12 14 16 18

 [#
] 

10

210

310

410

510

Step 4 : # of Accepted Detectors

West

East

West

East

Step 4 : # of Accepted Detectors

 # of Pairs
0 20 40 60 80 100 120

 [#
]

1

10

210

310

410

510

Step 4 : # of Valid PairsStep 4 : # of Valid Pairs



0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 5 : Channel 1 tof-le vs tof-totStep 5 : Channel 1 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 5 : Channel 2 tof-le vs tof-totStep 5 : Channel 2 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 5 : Channel 3 tof-le vs tof-totStep 5 : Channel 3 tof-le vs tof-tot

0

50

100

150

200

250

300

350

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 5 : Channel 4 tof-le vs tof-totStep 5 : Channel 4 tof-le vs tof-tot

0

50

100

150

200

250

300

350

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 5 tof-le vs tof-totStep 5 : Channel 5 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 6 tof-le vs tof-totStep 5 : Channel 6 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 7 tof-le vs tof-totStep 5 : Channel 7 tof-le vs tof-tot

0

50

100

150

200

250

300

350

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 8 tof-le vs tof-totStep 5 : Channel 8 tof-le vs tof-tot

0

50

100

150

200

250

300

350

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 9 tof-le vs tof-totStep 5 : Channel 9 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

450

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 10 tof-le vs tof-totStep 5 : Channel 10 tof-le vs tof-tot

0

50

100

150

200

250

300

350

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 12 tof-le vs tof-totStep 5 : Channel 12 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 13 tof-le vs tof-totStep 5 : Channel 13 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 14 tof-le vs tof-totStep 5 : Channel 14 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 15 tof-le vs tof-totStep 5 : Channel 15 tof-le vs tof-tot

0

50

100

150

200

250

300

350

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 16 tof-le vs tof-totStep 5 : Channel 16 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

450

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 5 : Channel 17 tof-le vs tof-totStep 5 : Channel 17 tof-le vs tof-tot

0

50

100

150

200

250

300

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 5 : Channel 18 tof-le vs tof-totStep 5 : Channel 18 tof-le vs tof-tot

0

50

100

150

200

250

300

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 5 : Channel 19 tof-le vs tof-totStep 5 : Channel 19 tof-le vs tof-tot



0

100

200

300

400

500

600

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 5 : Channel 20 tof-le vs tof-totStep 5 : Channel 20 tof-le vs tof-tot

0

100

200

300

400

500

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 5 : Channel 21 tof-le vs tof-totStep 5 : Channel 21 tof-le vs tof-tot

0

100

200

300

400

500

600

700

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 5 : Channel 22 tof-le vs tof-totStep 5 : Channel 22 tof-le vs tof-tot

0

100

200

300

400

500

600

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 5 : Channel 23 tof-le vs tof-totStep 5 : Channel 23 tof-le vs tof-tot

0

100

200

300

400

500

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 24 tof-le vs tof-totStep 5 : Channel 24 tof-le vs tof-tot

0

100

200

300

400

500

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 25 tof-le vs tof-totStep 5 : Channel 25 tof-le vs tof-tot

0

50

100

150

200

250

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 26 tof-le vs tof-totStep 5 : Channel 26 tof-le vs tof-tot

0

50

100

150

200

250

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 27 tof-le vs tof-totStep 5 : Channel 27 tof-le vs tof-tot

0

50

100

150

200

250

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 28 tof-le vs tof-totStep 5 : Channel 28 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 29 tof-le vs tof-totStep 5 : Channel 29 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

450

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 30 tof-le vs tof-totStep 5 : Channel 30 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 31 tof-le vs tof-totStep 5 : Channel 31 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 32 tof-le vs tof-totStep 5 : Channel 32 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

450

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 33 tof-le vs tof-totStep 5 : Channel 33 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 34 tof-le vs tof-totStep 5 : Channel 34 tof-le vs tof-tot

0

50

100

150

200

250

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5

Step 5 : Channel 35 tof-le vs tof-totStep 5 : Channel 35 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

200

220

240

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 5 : Channel 36 tof-le vs tof-totStep 5 : Channel 36 tof-le vs tof-tot

0

50

100

150

200

250

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 5 : Channel 37 tof-le vs tof-totStep 5 : Channel 37 tof-le vs tof-tot

0

50

100

150

200

250

300

350

400

450

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Step 5 : Channel 38 tof-le vs tof-totStep 5 : Channel 38 tof-le vs tof-tot



VPD - zTPC z
-200 -100 0 100 200

 [#
]

210

310

410

510

Step 5 : Outlier RejectionStep 5 : Outlier Rejection

 [cm]VPD - zTPC z
-200 -100 0 100 200

 [#
]

1

10

210

310

410

Step 5 : TPC vs. VPD z Vertex using <East> & <West>Step 5 : TPC vs. VPD z Vertex using <East> & <West>

0

200

400

600

800

1000

1200

1400

1600

1800

2000

TPC z
-100 -50 0 50 100

V
P

D
z

-100

-80

-60

-40

-20

0

20

40

60

80

100

Step 5 : TPC vs. VPD z VertexStep 5 : TPC vs. VPD z Vertex

0

10

20

30

40

50

 [cm]TPC z
-100 -50 0 50 100

 [c
m

]
V

P
D

z

-100

-80

-60

-40

-20

0

20

40

60

80

100

Step 5 : TPC vs. VPD z Vertex using <East> & <West>Step 5 : TPC vs. VPD z Vertex using <East> & <West>



 # of Detectors
0 2 4 6 8 10 12 14 16 18

 [#
] 

10

210

310

410

510

Step 5 : # of Accepted Detectors

West

East

West

East

Step 5 : # of Accepted Detectors

 # of Pairs
0 20 40 60 80 100 120

 [#
]

1

10

210

310

410

510

Step 5 : # of Valid PairsStep 5 : # of Valid Pairs



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0

0.5

1

1.5

2

Detector # 0 Resolution Fit

 = 0.166140 [ns] σ

/DOF = 2.6272432χ

Detector # 0 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

Detector # 1 Resolution Fit

 = 0.161934 [ns] σ

/DOF = 3.6146332χ

Detector # 1 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0

0.5

1

1.5

2

Detector # 2 Resolution Fit

 = 0.169736 [ns] σ

/DOF = 1.5574732χ

Detector # 2 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

Detector # 3 Resolution Fit

 = 0.164985 [ns] σ

/DOF = 3.0870042χ

Detector # 3 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

0.4

0.5

0.6

Detector # 4 Resolution Fit

 = 0.168296 [ns] σ

/DOF = 4.9881762χ

Detector # 4 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

0.4

Detector # 5 Resolution Fit

 = 0.167485 [ns] σ

/DOF = 6.4064592χ

Detector # 5 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

Detector # 6 Resolution Fit

 = 0.166264 [ns] σ

/DOF = 3.8304532χ

Detector # 6 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0

0.5

1

1.5

2

Detector # 7 Resolution Fit

 = 0.165876 [ns] σ

/DOF = 6.1937722χ

Detector # 7 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

0.4

Detector # 8 Resolution Fit

 = 0.167048 [ns] σ

/DOF = 2.2937122χ

Detector # 8 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

0.4

Detector # 9 Resolution Fit

 = 0.164812 [ns] σ

/DOF = 4.2695112χ

Detector # 9 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.15

-0.1

-0.05

0

0.05

0.1

Detector # 10 Resolution Fit

 = 0.000000 [ns] σ

/DOF = 0.0000002χ

Detector # 10 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

0.4

0.5

Detector # 11 Resolution Fit

 = 0.169009 [ns] σ

/DOF = 4.4023892χ

Detector # 11 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0

0.5

1

1.5

2

Detector # 12 Resolution Fit

 = 0.170223 [ns] σ

/DOF = 3.9123852χ

Detector # 12 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

Detector # 13 Resolution Fit

 = 0.167903 [ns] σ

/DOF = 5.5449402χ

Detector # 13 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0

0.5

1

1.5

2

2.5

Detector # 14 Resolution Fit

 = 0.179863 [ns] σ

/DOF = 6.8797362χ

Detector # 14 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

Detector # 15 Resolution Fit

 = 0.168621 [ns] σ

/DOF = 5.9891882χ

Detector # 15 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

0.4

Detector # 16 Resolution Fit

 = 0.167690 [ns] σ

/DOF = 4.5893752χ

Detector # 16 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0

0.5

1

1.5

2

2.5

3

Detector # 17 Resolution Fit

 = 0.167093 [ns] σ

/DOF = 5.7760462χ

Detector # 17 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

0.4

0.5

Detector # 18 Resolution Fit

 = 0.166043 [ns] σ

/DOF = 3.2684452χ

Detector # 18 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

0.4

0.5

Detector # 19 Resolution Fit

 = 0.182622 [ns] σ

/DOF = 20.7864992χ

Detector # 19 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

0

0.2

0.4

0.6

0.8

1

1.2

1.4

Detector # 20 Resolution Fit

 = 0.181521 [ns] σ

/DOF = 17.0411752χ

Detector # 20 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0

0.5

1

1.5

2

2.5

3

Detector # 21 Resolution Fit

 = 0.174835 [ns] σ

/DOF = 19.2925592χ

Detector # 21 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

Detector # 22 Resolution Fit

 = 0.178434 [ns] σ

/DOF = 18.1295352χ

Detector # 22 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

Detector # 23 Resolution Fit

 = 0.178506 [ns] σ

/DOF = 25.5503732χ

Detector # 23 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

0.4

0.5

Detector # 24 Resolution Fit

 = 0.182650 [ns] σ

/DOF = 10.4755482χ

Detector # 24 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

Detector # 25 Resolution Fit

 = 0.177557 [ns] σ

/DOF = 8.3314532χ

Detector # 25 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

Detector # 26 Resolution Fit

 = 0.176255 [ns] σ

/DOF = 9.6731242χ

Detector # 26 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

Detector # 27 Resolution Fit

 = 0.175337 [ns] σ

/DOF = 11.2382882χ

Detector # 27 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

0.4

Detector # 28 Resolution Fit

 = 0.179114 [ns] σ

/DOF = 15.0515882χ

Detector # 28 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

Detector # 29 Resolution Fit

 = 0.182660 [ns] σ

/DOF = 14.2348022χ

Detector # 29 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

0

0.2

0.4

0.6

0.8

1

1.2

1.4

Detector # 30 Resolution Fit

 = 0.180153 [ns] σ

/DOF = 11.2257832χ

Detector # 30 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

0

0.2

0.4

0.6

0.8

Detector # 31 Resolution Fit

 = 0.188719 [ns] σ

/DOF = 9.9857102χ

Detector # 31 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

0.4

0.5

Detector # 32 Resolution Fit

 = 0.186634 [ns] σ

/DOF = 5.9600612χ

Detector # 32 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

Detector # 33 Resolution Fit

 = 0.187065 [ns] σ

/DOF = 7.8691662χ

Detector # 33 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

0.4

Detector # 34 Resolution Fit

 = 0.183580 [ns] σ

/DOF = 10.8244432χ

Detector # 34 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

Detector # 35 Resolution Fit

 = 0.184113 [ns] σ

/DOF = 4.2690072χ

Detector # 35 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

Detector # 36 Resolution Fit

 = 0.179282 [ns] σ

/DOF = 6.1815912χ

Detector # 36 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

-0.2

-0.1

0

0.1

0.2

0.3

0.4

0.5

Detector # 37 Resolution Fit

 = 0.183755 [ns] σ

/DOF = 11.0799702χ

Detector # 37 Resolution Fit



Detector
5 10 15 20 25 30 35

 R
es

ol
ut

io
n 

[ n
s 

]

0

0.02

0.04

0.06

0.08

0.1

0.12

0.14

0.16

0.18

0.2

Detector Resolution

 = 0.173389 [ns] σAverage 

Detector Resolution



tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 1 : Slewing Correction Channel 1 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 2 : Slewing Correction Channel 2 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 3 : Slewing Correction Channel 3 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 4 : Slewing Correction Channel 4 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 5 : Slewing Correction Channel 5 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 6 : Slewing Correction Channel 6 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 7 : Slewing Correction Channel 7 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 8 : Slewing Correction Channel 8 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 9 : Slewing Correction Channel 9 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 10 : Slewing Correction Channel 10 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 11 : Slewing Correction Channel 11 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 12 : Slewing Correction Channel 12 : Slewing Correction 



tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 13 : Slewing Correction Channel 13 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 14 : Slewing Correction Channel 14 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 15 : Slewing Correction Channel 15 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 16 : Slewing Correction Channel 16 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 17 : Slewing Correction Channel 17 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 18 : Slewing Correction Channel 18 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 19 : Slewing Correction Channel 19 : Slewing Correction 



tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 20 : Slewing Correction Channel 20 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 21 : Slewing Correction Channel 21 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 22 : Slewing Correction Channel 22 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 23 : Slewing Correction Channel 23 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 24 : Slewing Correction Channel 24 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 25 : Slewing Correction Channel 25 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 26 : Slewing Correction Channel 26 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 27 : Slewing Correction Channel 27 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 28 : Slewing Correction Channel 28 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 29 : Slewing Correction Channel 29 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 30 : Slewing Correction Channel 30 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 31 : Slewing Correction Channel 31 : Slewing Correction 



tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 32 : Slewing Correction Channel 32 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 33 : Slewing Correction Channel 33 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 34 : Slewing Correction Channel 34 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 35 : Slewing Correction Channel 35 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 36 : Slewing Correction Channel 36 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 37 : Slewing Correction Channel 37 : Slewing Correction 

tof-tot [ns] 
5 10 15 20 25 30 35 40

to
f-

le
 [n

s]
 

-5

-4

-3

-2

-1

0

1

2

3

4

5
Channel 38 : Slewing Correction Channel 38 : Slewing Correction 


	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29


